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General Instructions :

{1y Allguestions are compulsory.

) Questions 1-4 in section A carrymg | mark each,
(i) Questions 3-12 mscction B carrying 2 marks each.
{iv) E!uest.inns 13-23 in section C carrying 4 marks each.
(v} Questions 24-29 in section D carrying 6 marks each.
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1. If fix)=x%, gix)=2x+ 3, find fog (1).

TiE f(x) =22, g(x) = 2c + 3, fog (1) 0 99 71 Hif0 |
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5. Form the differential equation of the family of lines passing through the origin.
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Write 7 3 as sum of symmetric and skew symmetric matrix. Y ?_L%n i
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10, snm:un~l{x)+zmr1{x}=-23£.

¥ FIfA : tan! (x) + 2 cot!(x) =£;L.

11. Find fog (x) and gof (x) when /- R—R and g : R— R are defined by f(x) = sin x and g (x) = 5%,
Jog (x) 3 gof (x) T Hifay 34 /. R—R 3T g : R— R Foufm & 3 £(x) = sinx 3 g () = 522,

Mﬂﬁmmﬁ_
FEFEA WM A R 27 W WA Fm wian | (A% A'Y ) [ 4-A")
Section-C #:3 i
aUE-q ==
%, %,}2
13, thuﬂllﬁfh'ﬂjilummhn:xcm(f)¢-=[ym{%]+x]m. i

i

SR HHEOT W T i xm[f]a}-n[ym [{J+x}.ﬁ

14. Fidﬂﬂpwthﬂhrmlﬂﬁnufthediﬁrﬂﬂmmhn{I—f}%qunxlgjvmﬂ:ﬂty=lx“ﬂ.
FFEE wT w1 fafire ge aw Fifa Ca t
"
{l‘f}%“ﬂm-‘-’lmt}f=lx‘ﬂ.

PT.0O.




ua— i o (hburm

3/'4 bhy, =3 =
4 i J E

DE{H‘I‘H‘I} :|"-'1__ B II'"é? - '-'|'E|'l-|_"":'-‘
Form the differential equation of all circles which touch the y-axis at the origin. J
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(DJththacqumhnnftmgcmmthcmc v =+/3x—2 which is paraliel to the line 4x - 2y + 5=0.
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l:.?ﬁ./ If y = acos (log x) + b sin (Jog x), prove that x2y; +x +y=0.
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Solve the equation for x
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24. Curves 4x =y and dxp = k cut at right angle. 5 15 the number of trees planted by students of a school in
a day. Find the number of trees planted. How trees are beneficial to environment 7
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26. Letf:N — Y be a function defined by f(x) = 4x2 + 12x + 15, where ¥ is the range of /. Show that fis
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27. Use the product |:1 3 ﬂH—d 2 —4] to solve the system of equations
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28. Show that the maximum volume ofa cvlinder which can be inscribed in a cone of height £ and semi-vertical
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Find all points of local maxima and minima and the corresponding maxirmum and n:ummmmim ufﬁn;%n
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